

ON THE CERTAIN SUBCLASSES OF UNIVALENT FUNCTIONS
ASSOCIATED WITH THE TSCHEBYSCHIEFF POLYNOMIALS

ŞAHSENE ALTINKAYA AND SIBEL YALÇIN

ABSTRACT. In this work, considering certain subclasses of univalent functions and using the Tschebyscheff polynomials, we obtain coefficient expansions and solve the Fekete-Szegő problem for the functions that belong to these new subclasses.

1. INTRODUCTION

Denote by D the unit disc of the complex plane, $D = \{z \in \mathbb{C} : |z| < 1\}$, A the class of functions analytic in D , satisfying the conditions

$$f(0) = 0 \text{ and } f'(0) = 1.$$

Then each function f in A has the Taylor expansion

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n. \quad (1)$$

Also let S be the subclass of A consisting of functions the form (1) which are also univalent in D .

Further, we denote the class of starlike functions in A by S^* . It is well known that a function $f \in A$ is in S^* if and only if

$$\Re \left(\frac{z f'(z)}{f(z)} \right) > 0,$$

and denote by K the subclass of S of convex functions, so that $f \in K$ if, and only if, for $z \in D$

$$\Re \left(1 + \frac{z f''(z)}{f'(z)} \right) > 0.$$

If the functions f and g are analytic in D , then f is said to be subordinate to g , written as

$$f(z) \prec g(z), \quad (z \in D)$$

if there exists a Schwarz function $w(z)$, analytic in D , with

$$w(0) = 0 \text{ and } |w(z)| < 1 \quad (z \in D)$$

such that

$$f(z) = g(w(z)) \quad (z \in D).$$

Ma and Minda [6] unified various subclasses of starlike and convex functions for which either of the quantity $\frac{z f'(z)}{f(z)}$ or $1 + \frac{z f''(z)}{f'(z)}$ is subordinate to a more general superordinate function. For this purpose, they considered an analytic function φ with positive real part in D , $\varphi(0) = 0$, $\varphi'(0) > 0$, and φ maps D onto a region starlike with respect to 1

2010 *Mathematics Subject Classification.* 30C45.

Key words and phrases. Tschebyscheff polynomials; Fekete-Szegő problem; analytic and univalent functions; coefficient bounds; subordination.

and symmetric with respect to the real axis. The class of Ma-Minda starlike functions consists of functions $f \in A$ satisfying the subordination $\frac{zf'(z)}{f(z)} \prec \varphi(z)$. Similarly, the class of Ma-Minda convex functions consists of functions $f \in A$ satisfying the subordination $1 + \frac{zf''(z)}{f'(z)} \prec \varphi(z)$.

A classical theorem of Fekete-Szegő [3] states that for $f \in S$ of the form (1), the functional $|a_3 - \mu a_2^2|$ satisfies the inequality:

$$|a_3 - \mu a_2^2| \leq \begin{cases} 3 - 4\mu, & \mu \leq 0 \\ 1 + \exp\left(\frac{-2\mu}{1-\mu}\right), & 0 \leq \mu \leq 1 \\ 4\mu - 3, & \mu \geq 1 \end{cases} .$$

Keogh and Merkes [4], in 1969, obtained the sharp upper bound of the Fekete-Szegő functional $|a_3 - \mu a_2^2|$ for functions in some subclasses of S . The functional has since received great attention, particularly in many subclasses of the family of univalent functions (see for example, [1], [2], [8], [9]).

In the case of a real variable t on $(-1, 1)$, the expressions,

$$T_n(t) = \cos n\theta, \quad t = \cos \theta$$

uniquely define polynomials of the n th degree, the so called Tschebyscheff polynomials (see [7]).

The Tschebyscheff polynomials $T_n(t)$, $t \in (-1, 1)$ have the generating function of the form

$$\sum_{n=0}^{\infty} T_n(t) z^n = \frac{1 - tz}{1 - 2tz + z^2} \quad (z \in D).$$

Thus, we write

$$T(z, t) = 1 + L_1(t)z + L_2(t)z^2 + \dots \quad (z \in D).$$

Also it is known that

$$L_{n+1}(t) - 2tL_n(t) + L_{n-1}(t) = 0$$

and

$$\begin{aligned} L_0(t) &= 1 \\ L_1(t) &= t \\ L_2(t) &= 2t^2 - 1, \\ L_3(t) &= 4t^3 - 3t, \\ &\vdots \end{aligned} \tag{2}$$

The classes introduced in this paper are motivated by the corresponding classes investigated in [5]. We establish bounds for the coefficients, and solve the Fekete-Szegő problem for the functions that belong to these new classes. Furthermore, several related classes are also considered.

2. MAIN RESULTS

Next we consider the following new subclasses of A .

Definition 1. A function $f \in A$ is said to be in the class $M_\lambda(t)$, $0 \leq \lambda \leq 1$ and $t \in (\frac{1}{2}, 1]$, if the following subordination hold

$$\lambda f'(z) + (1 - \lambda) \frac{zf'(z)}{f(z)} \prec T(z, t) := \frac{1 - tz}{1 - 2tz + z^2} \quad (z \in D). \tag{3}$$

Note that

$$M_0(t) = \left\{ f \in A : \frac{zf'(z)}{f(z)} \prec T(z, t) \right\}$$

and

$$M_1(t) = \{f \in A : f'(z) \prec T(z, t)\}.$$

Theorem 1. Let the function $f(z)$ given by (1) be in the class $M_\lambda(t)$. Then

$$|a_2| \leq \frac{t}{1 + \lambda}$$

and

$$|a_3| \leq \frac{(2\lambda^2 + 3\lambda + 3)t^2}{(2 + \lambda)(1 + \lambda)^2} + \frac{t}{2 + \lambda} - \frac{1}{2 + \lambda}.$$

Proof. Let $f \in M_\lambda(t)$. From (3), we have

$$\lambda f'(z) + (1 - \lambda) \frac{zf'(z)}{f(z)} = 1 + L_1(t)w(z) + L_2(t)w^2(z) + \dots, \tag{4}$$

for some analytic functions w such that $w(0) = 0$ and $|w(z)| < 1$, for all $z \in D$. From the equalities (4), we obtain that

$$\lambda f'(z) + (1 - \lambda) \frac{zf'(z)}{f(z)} = 1 + L_1(t)c_1z + [L_1(t)c_2 + L_2(t)c_1^2]z^2 + \dots. \tag{5}$$

It is fairly well-known that if $|w(z)| = |c_1z + c_2z^2 + c_3z^3 + \dots| < 1$, $z \in D$, then

$$|c_j| \leq 1, \text{ for all } j \in \mathbb{N}; \tag{6}$$

and

$$|c_2 - \mu c_1^2| \leq \max\{1, |\mu|\}, \text{ for all } \mu \in \mathbb{R}. \tag{7}$$

It follows from (5) that

$$(1 + \lambda)a_2 = L_1(t)c_1, \tag{8}$$

$$(2 + \lambda)a_3 - (1 - \lambda)a_2^2 = L_1(t)c_2 + L_2(t)c_1^2. \tag{9}$$

From (2) and (8) we obtain

$$|a_2| \leq \frac{t}{1 + \lambda}. \tag{10}$$

Next, in order to find the bound on $|a_3|$, by using (8) in (9), we obtain

$$(2 + \lambda)a_3 = L_1(t)c_2 + \left\{ L_2(t) + \frac{(1 - \lambda)}{(1 + \lambda)^2} L_1^2(t) \right\} c_1^2. \tag{11}$$

Then, in view of (2) and (6), we have from (11)

$$|a_3| \leq \frac{(2\lambda^2 + 3\lambda + 3)t^2}{(2 + \lambda)(1 + \lambda)^2} + \frac{t}{2 + \lambda} - \frac{1}{2 + \lambda}.$$

□

Our next theorem gives the Fekete-Szegő inequality for functions in the class $M_\lambda(t)$.

Theorem 2. Let f given by (1) be in the class $M_\lambda(t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{2+\lambda}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \frac{t}{2+\lambda} \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)}{(1+\lambda)^2}t - \mu \frac{(2+\lambda)}{(1+\lambda)^2}t \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}$$

where

$$\mu_1 = \frac{(2\lambda^2+3\lambda+3)t^2-(1+\lambda)^2(1+t)}{(2+\lambda)t^2}, \quad \mu_2 = \frac{(2\lambda^2+3\lambda+3)t^2-(1+\lambda)^2(1-t)}{(2+\lambda)t^2}.$$

Proof. From (8) and (11)

$$|a_3 - \mu a_2^2| = \frac{L_1(t)}{2+\lambda} \left| c_2 + \left\{ \frac{L_2(t)}{L_1(t)} + \frac{1-\lambda}{(1+\lambda)^2}L_1(t) - \mu \frac{(2+\lambda)L_1(t)}{(1+\lambda)^2} \right\} c_1^2 \right|.$$

Then, in view of (7), we conclude that

$$|a_3 - \mu a_2^2| \leq \frac{L_1(t)}{2+\lambda} \max \left\{ 1, \left| \frac{L_2(t)}{L_1(t)} + \frac{1-\lambda}{(1+\lambda)^2}L_1(t) - \mu \frac{(2+\lambda)L_1(t)}{(1+\lambda)^2} \right| \right\}. \quad (12)$$

Finally, by using (2) in (12)

$$|a_3 - \mu a_2^2| \leq \frac{t}{1+2\lambda} \max \left\{ 1, \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)}{(1+\lambda)^2}t - \mu \frac{(2+\lambda)}{(1+\lambda)^2}t \right| \right\}.$$

Because $t > 0$, we have

$$\begin{aligned} & \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)}{(1+\lambda)^2}t - \mu \frac{(2+\lambda)}{(1+\lambda)^2}t \right| \leq 1 \\ & \Leftrightarrow \left\{ \frac{(2\lambda^2+3\lambda+3)t^2-(1+\lambda)^2(1+t)}{(2+\lambda)t^2} \leq \mu \leq \frac{(2\lambda^2+3\lambda+3)t^2-(1+\lambda)^2(1-t)}{(2+\lambda)t^2} \right\} \\ & \Leftrightarrow \mu_1 \leq \mu \leq \mu_2. \end{aligned}$$

□

Taking $\lambda = 1$ we get

Corollary 1. If $f \in M_1(t)$, then

$$\begin{aligned} |a_2| &\leq \frac{t}{3}; \\ |a_3| &\leq \frac{2t^2}{3} + \frac{t}{3} - \frac{1}{3}; \\ |a_3 - \mu a_2^2| &\leq \begin{cases} \frac{t}{3}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \left| \frac{8t^2-4-3\mu t^2}{12} \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases} \end{aligned}$$

Taking $\lambda = 0$ we get

Corollary 2. *If $f \in M_0(t)$, then*

$$|a_2| \leq t;$$

$$|a_3| \leq \frac{3t^2}{2} + \frac{t}{2} - \frac{1}{2};$$

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{2}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \left| \frac{3t^2 - 1 - 2\mu t^2}{2} \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}.$$

Definition 2. *A function $f \in A$ is said to be in the class $K(\lambda, t)$, $0 \leq \lambda \leq 1$ and $t \in (\frac{1}{2}, 1]$, if the following subordination hold*

$$(f'(z))^\lambda \left(\frac{zf'(z)}{f(z)} \right)^{(1-\lambda)} \prec T(z, t) := \frac{1-tz}{1-2tz+z^2} \quad (z \in D). \tag{13}$$

We see that $K(0, t) = M_0(t)$ and $K(1, t) = M_1(t)$.

Theorem 3. *Let the function $f(z)$ given by (1) be in the class $K(\lambda, t)$. Then*

$$|a_2| \leq \frac{t}{1+\lambda}$$

and

$$|a_3| \leq \frac{(3\lambda^2 + 7\lambda + 6)t^2}{2(2+\lambda)(1+\lambda)^2} + \frac{t}{2+\lambda} - \frac{1}{2+\lambda}.$$

Proof. Let $f \in K(\lambda, t)$. From (13), we obtain

$$(f'(z))^\lambda \left(\frac{zf'(z)}{f(z)} \right)^{(1-\lambda)} = 1 + L_1(t)c_1z + [L_1(t)c_2 + L_2(t)c_1^2]z^2 + \dots.$$

such that

$$(1+\lambda)a_2 = L_1(t)c_1, \tag{14}$$

$$(2+\lambda)a_3 - \frac{(2+\lambda)(1-\lambda)}{2}a_2^2 = L_1(t)c_2 + L_2(t)c_1^2. \tag{15}$$

From (2) and (14) we obtain

$$|a_2| \leq \frac{t}{1+\lambda}.$$

On the other hand, by using (14) in (15), we obtain

$$(2+\lambda)a_3 = L_1(t)c_2 + \left\{ L_2(t) + \frac{(2+\lambda)(1-\lambda)}{2(1+\lambda)^2}L_1^2(t) \right\} c_1^2. \tag{16}$$

Now using the facts that in (2) and taking the absolute values of either of the above equation in (16), we obtain

$$|a_3| \leq \frac{(3\lambda^2 + 7\lambda + 6)t^2}{2(2+\lambda)(1+\lambda)^2} + \frac{t}{2+\lambda} - \frac{1}{2+\lambda}.$$

□

Theorem 4. Let f given by (1) be in the class $K(\lambda, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{2+\lambda}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \frac{t}{2+\lambda} \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)(2+\lambda)}{2(1+\lambda)^2} t - \mu \frac{(2+\lambda)}{(1+\lambda)^2} t \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}.$$

where

$$\begin{aligned} \mu_1 &= \frac{(4(1+\lambda)^2(2+\lambda)+(1-\lambda)+3)t^2-2(1+\lambda)^2(2+\lambda)(1+t)}{2(2+\lambda)^2t^2}, \\ \mu_2 &= \frac{(4(1+\lambda)^2(2+\lambda)+(1-\lambda)+3)t^2-2(1+\lambda)^2(2+\lambda)(1-t)}{2(2+\lambda)^2t^2}. \end{aligned}$$

Proof. From (14) and (15)

$$|a_3 - \mu a_2^2| = \frac{L_1(t)}{2+\lambda} \left| c_2 + \left\{ \frac{L_2(t)}{L_1(t)} + \frac{(1-\lambda)(2+\lambda)}{2(1+\lambda)^2} L_1(t) - \mu \frac{(2+\lambda)L_1(t)}{(1+\lambda)^2} \right\} c_1^2 \right|.$$

Then, in view of (7), we conclude that

$$|a_3 - \mu a_2^2| \leq \frac{U_1(t)}{2+\lambda} \max \left\{ 1, \left| \frac{L_2(t)}{L_1(t)} + \frac{(1-\lambda)(2+\lambda)}{2(1+\lambda)^2} L_1(t) - \mu \frac{(2+\lambda)L_1(t)}{(1+\lambda)^2} \right| \right\}.$$

Finally, by using (2), we get

$$|a_3 - \mu a_2^2| \leq \frac{t}{2+\lambda} \max \left\{ 1, \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)(2+\lambda)}{2(1+\lambda)^2} t - \mu \frac{(2+\lambda)}{(1+\lambda)^2} t \right| \right\}.$$

Because $t > 0$, we have

$$\begin{aligned} \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)(2+\lambda)}{2(1+\lambda)^2} t - \mu \frac{(2+\lambda)}{(1+\lambda)^2} t \right| &\leq 1 \\ \Leftrightarrow \left\{ \frac{(3\lambda^2+7\lambda+6)t^2-2(1+\lambda)^2(1+t)}{2(2+\lambda)t^2} \leq \mu \leq \frac{(3\lambda^2+7\lambda+6)t^2-2(1+\lambda)^2(1-t)}{2(2+\lambda)t^2} \right\} \end{aligned}$$

□

Definition 3. A function $f \in A$ is said to be in the class $P(\lambda, t)$, $0 \leq \lambda \leq 1$ and $t \in (\frac{1}{2}, 1]$, if the following subordination hold

$$(f'(z))^\lambda \left(1 + \frac{zf''(z)}{f'(z)} \right)^{(1-\lambda)} \prec T(z, t) := \frac{1-tz}{1-2tz+z^2} \quad (z \in D).$$

Note that

$$P(0, t) = \left\{ f \in A : \left(1 + \frac{zf''(z)}{f'(z)} \right) \prec T(z, t) \right\}$$

and

$$P(1, t) = M_1(t).$$

Theorem 5. Let the function $f(z)$ given by (1) be in the class $P(\lambda, t)$. Then

$$|a_2| \leq \frac{t}{2}$$

and

$$|a_3| \leq \frac{(3-\lambda)t^2}{3(2-\lambda)} + \frac{t}{3(2-\lambda)} - \frac{1}{3(2-\lambda)}.$$

Proof. Let $f \in P(\lambda, t)$. From the last definition, we have

$$(f'(z))^\lambda \left(1 + \frac{zf''(z)}{f'(z)}\right)^{(1-\lambda)} = 1 + L_1(t)c_1z + [L_1(t)c_2 + L_2(t)c_1^2]z^2 + \dots \quad (17)$$

Comparing the corresponding coefficients of (17), yields

$$2a_2 = L_1(t)c_1, \quad (18)$$

$$3(2-\lambda)a_3 - 4(1-\lambda)a_2^2 = L_1(t)c_2 + L_2(t)c_1^2. \quad (19)$$

From (2) and (18) we obtain

$$|a_2| \leq \frac{t}{2}.$$

Next, in order to find the bound on $|a_3|$, by using (18) in (19), we obtain

$$3(2-\lambda)a_3 = L_1(t)c_2 + \{L_2(t) + (1-\lambda)L_1^2(t)\}c_1^2,$$

or, equivalently

$$|a_3| \leq \frac{(3-\lambda)t^2}{3(2-\lambda)} + \frac{t}{3(2-\lambda)} - \frac{1}{3(2-\lambda)}.$$

□

Theorem 6. Let f given by (1) be in the class $P(\lambda, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{3(2-\lambda)}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \frac{t}{3(2-\lambda)} \left| \frac{2t^2-1}{t} + (1-\lambda)t - \mu \frac{3(2-\lambda)}{4}t \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}.$$

where

$$\mu_1 = \frac{4(3-\lambda)t^2-4(1+t)}{3(2-\lambda)t^2}, \quad \mu_2 = \frac{4(3-\lambda)t^2-4(1-t)}{3(2-\lambda)t^2}.$$

Proof. From (18) and (19)

$$|a_3 - \mu a_2^2| = \frac{L_1(t)}{3(2-\lambda)} \left| c_2 + \left\{ \frac{L_2(t)}{L_1(t)} + (1-\lambda)L_1(t) - \mu \frac{3(2-\lambda)L_1(t)}{4} \right\} c_1^2 \right|.$$

Then, in view of (7), we conclude that

$$|a_3 - \mu a_2^2| \leq \frac{L_1(t)}{3(2-\lambda)} \max \left\{ 1, \left| \frac{L_2(t)}{L_1(t)} + (1-\lambda)L_1(t) - \mu \frac{3(2-\lambda)L_1(t)}{4} \right| \right\}. \quad (20)$$

Finally, by using (2) in (20)

$$|a_3 - \mu a_2^2| \leq \frac{t}{3(2-\lambda)} \max \left\{ 1, \left| \frac{2t^2-1}{t} + (1-\lambda)t - \mu \frac{3(2-\lambda)}{4}t \right| \right\}.$$

Because $t > 0$, we have

$$\begin{aligned} \left| \frac{2t^2-1}{t} + (1-\lambda)t - \mu \frac{3(2-\lambda)}{4}t \right| &\leq 1 \\ \Leftrightarrow \left\{ \frac{4(3-\lambda)t^2-4(1+t)}{3(2-\lambda)t^2} \leq \mu \leq \frac{4(3-\lambda)t^2-4(1-t)}{3(2-\lambda)t^2} \right\} \end{aligned}$$

□

Definition 4. A function $f \in A$ is said to be in the class $R(\lambda, t)$, $0 \leq \lambda \leq 1$ and $t \in (\frac{1}{2}, 1]$, if the following subordination hold

$$\left(\frac{f(z)}{z}\right)^\lambda \left(\frac{zf'(z)}{f(z)}\right)^{1-\lambda} \prec T(z, t) := \frac{1-tz}{1-2tz+z^2} \quad (z \in D).$$

We see that $R(0, t) = M_0(t)$.

Theorem 7. Let the function $f(z)$ given by (1) be in the class $R(\lambda, t)$. Then

$$|a_2| \leq t$$

and

$$|a_3| \leq \frac{(3-\lambda)t^2}{2-\lambda} + \frac{t}{2-\lambda} - \frac{1}{2-\lambda}.$$

Theorem 8. Let f given by (1) be in the class $R(\lambda, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{2-\lambda}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \frac{t}{2-\lambda} \left| \frac{2t^2-1}{t} + (1-\lambda)t - \mu(2-\lambda)t \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}.$$

where

$$\mu_1 = \frac{(3-\lambda)t^2 - (1+t)}{(2-\lambda)t^2}, \quad \mu_2 = \frac{(3-\lambda)t^2 - (1-t)}{(2-\lambda)t^2}.$$

Definition 5. A function $f \in A$ is said to be in the class $S(\lambda, t)$, $0 \leq \lambda \leq 1$ and $t \in (\frac{1}{2}, 1]$, if the following subordination hold

$$\left(\frac{f(z)}{z} \right)^\lambda \left(1 + \frac{zf''(z)}{f'(z)} \right)^{1-\lambda} \prec T(z, t) := \frac{1-tz}{1-2tz+z^2} \quad (z \in D).$$

We see that $S(0, t) = P(0, t)$.

Theorem 9. Let the function $f(z)$ given by (1) be in the class $S(\lambda, t)$. Then

$$|a_2| \leq \frac{t}{2-\lambda}$$

and

$$|a_3| \leq \frac{(3\lambda^2 - 23\lambda + 24)t^2}{2(2-\lambda)^2(6-5\lambda)} + \frac{t}{6-5\lambda} - \frac{1}{6-5\lambda}.$$

Theorem 10. Let f given by (1) be in the class $S(\lambda, t)$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{t}{6-5\lambda}; & \text{for } \mu \in [\mu_1, \mu_2] \\ \frac{t}{6-5\lambda} \left| \frac{2t^2-1}{t} + \frac{(1-\lambda)(8+\lambda)}{2(2-\lambda)^2}t - \mu \frac{(6-5\lambda)}{(2-\lambda)^2}t \right|; & \text{for } \mu \notin [\mu_1, \mu_2] \end{cases}.$$

where

$$\mu_1 = \frac{(3\lambda^2 - 23\lambda + 24)t^2 - 2(2-\lambda)^2(1+t)}{2(6-5\lambda)t^2}, \quad \mu_2 = \frac{(3\lambda^2 - 23\lambda + 24)t^2 - 2(2-\lambda)^2(1-t)}{2(6-5\lambda)t^2}.$$

REFERENCES

- [1] Aouf, M.K., EL-Ashwah, R.M., Zayed, H.M., *Fekete-Szegő inequalities for p -valent starlike and convex functions of complex order*, Journal of the Egyptian Mathematical Society **22** (2014), 190–196.
- [2] Bulut, S., *Fekete-Szegő problem for subclasses of analytic functions defined by Komatu integral operator*, Arab. J. Math. **2** (2013), 177–183.
- [3] Fekete, M., Szegő, G., *Eine bemerkung über ungerade schlichte funktionen*, Journal of the London Mathematical Society, **2** (1933), 85–89.
- [4] Keogh, F.R., Merkes, E.P., *A coefficient inequality for certain classes of analytic functions*, Proc. Am. Math. Soc. **20** (1969) 8–12.
- [5] Khatter, K., Lee, S.K., Kumar, S.S., *Coefficient Bounds for Certain Analytic Functions*, Bull. Malays. Math. Sci. Soc., (2016) 1–36.

- [6] Ma, W.C., Minda, D., *A unified treatment of some special classes of univalent functions*, in: Proceedings of the Conference on Complex Analysis, Tianjin, 1992, 157–169, Conf. Proc. Lecture Notes Anal. I, Int. Press, Cambridge, MA, 1994.
- [7] Nobbenhuis, S., *Special functions and polynomials*, Institute for Theoretical Physics Utrecht University, Leuvenlaan, 2013.
- [8] Srivastava, H.M., Mishra, A.K., Das, M.K., *The Fekete-Szegő problem for a subclass of close-to-convex functions*, Complex Variables Theory Appl. **44** (2001), 145–163.
- [9] Zaprawa, P., *On Fekete-Szegő problem for classes of bi-univalent functions*, Bull. Belg. Math. Soc. Simon Stevin, **21** (2014), 169–178.

ULUDAG UNIVERSITY
DEPARTMENT OF MATHEMATICS
16059, BURSA, TURKEY
E-mail address: sahsene@uludag.edu.tr

ULUDAG UNIVERSITY
DEPARTMENT OF MATHEMATICS
16059, BURSA, TURKEY
E-mail address: syalcin@uludag.edu.tr